B

HBO-4124ACSKI2MP 2 X b # 7+ WHAT S BEBRFLRM (4 BIMZH/K T 1)

: = BEAR KHEDAHR
(B zmm) =) EI> N - 2N (FEEH) BRAEY (X T.5B LT 0= FAX
B=EUE B B0 (RVEEI0C, BEERED 0L /nin)
20 L(BEINw £V EH) 7 |hozaEe 71 (kW) :xravfs.o:(ﬁgﬁ_ﬁé%%/%xﬂqggzEhjngf%sot
= <, = B .2MPa
LI0(RE 25> o) 120 15_ 2.2 132 AETE B & 220X 1852 X R 17831
BEERE D Do kG | S0 FEATE | B2 XIE600XER 490
~ 420 (R 1E) RfF R ) Eird (CH Bt ) T /it o miA | RAD: 2500wt it 270on?
Al — _ N B lRus rfE 385 x 435
= 7.2,50 BREAFEFOCHS 3 1 > EH) : FmIms | omuE
\ T o DT oI RKER | & 12081 20XEF15 | A #1230 1 ARH2
/ﬁ é 409 4 Lo o — TR B18100V #1.6VVF 3T (15187 —2)50-60Hz T 8 &S
A - - N L I s I e R sn | amen [oorr] wa ] & |7 VETY DC12V 3% 5m Mithd 20 5 —t54
[t 4 o 2 B 80C 3.3U/nin 10ABIREE (D1 v 07 » 2+ —E#)
¥ ~ 1 7| e 15A(G1/2B)
_ s © ’ SH 427Uz MESHROE E-CONESHT
: L — 1] — i a5 91005 7
55 y . { &% (kg) AH:9.5. BEK v 72:3.5(8K8 14(RES » 7 XBT))
45 EEROIER RO+ BB 7 7 > 0E
BE (m*/min) 3%:6.0 / §:3.5 /1£3:6.0
620. 4 2 |mE-2—x0® [%/%/13
. o E [RERE SE(@/ @/ P/ PE/1E)
XAy F L
fggﬁgﬁﬁ?g f6 Kz A O % lmEm (gBA)) | Be45 / 55:30 / TI:45
N » L D [] — =
385(RUMNL RAIE) _440.9(RUNR L MIE) TSAGGT/2B) 4 o 490 Chkd 115 17— BAORM _ __
(370 TSl Ee) TEN vy T — = . F = BEZOED ’E?&;ﬁﬁﬂ%‘r§77/+$§§;\7;/j+7’717777\9~0)]§$5
EiumT 8 : 7 -z a8 ) - 54—
B 7m
o = BB 5.5 5.1 5.1 5.5
L AE
(A & HER y I O f; (n*/min) |ime 2.00120m/h)
— ‘ R ’—| — . L3 (#£E0~150Pq8)
| "1 : & (BB (dBA) 45 | 45 4 | 45
i L 1 1 ahes Lo R 54 v— 51 v— Bk OBME
=~ I ~ o "N = REM & EHE L K20 M30 5 ~ 3B M (AR 15C. BEB5%)
I Ko . B Lo a o — A 18 BEZOEH HRR+ BB O 7 Y+ RR D 7 VTS5 IY I 52T — 0
N — -
NP 7 § ‘R <+ |- o oy e =9 2 T S
= i
EIE - D~ — Q - 1 = & &R 6.0 5.1 5.1 6.0
|V [ o S = & [ | «© %Eﬁ%mm = 2.501500°/n)_ | 2.00120m°/h) | 2.0C120w/h) | 2.5(150m%/h)
# -_ =+ %F | ] B (% ED~150P 8% )| (# ED~150Pa8¥)| (# D~ 150P 8% )| (#E£0—~ 1 50Pas¥)
% = o — = 1iNiE & [%EE (BA) 48 45 44 48
0= = -+ <) 547 PEPEE T
o =y Lo \ | CREM (A Elg) | BB 41165304 (A 5815C. BE65%)
A IZ2bhYOS S
! - - . A& % % 5 %
| = , N 5 7>
™ i : . A |smmoty  [SEtSe| TRRL, [ [saows
BERE 2 (&/ FE K/
£ S8 (/F 8/ /P (/1)
» G(EE(m/min . — . —
L — . o . % |E8 (m/min) 4.4 4.4
T AR 855.4 KARDI—HhN— EREmY § BEE (@BA) | M s2rg [+sfle | s2rw
: B U Ik U IRRE> 32 S S e 58 FAY— W9 17— BANE
83] . IR B KT 25 riaEROfEY SR ER T > 0ES+ S 2 AT
# ~|BZ (m/min) 7.2
: - = 2 | EmsE (BM) +x3he
o - BER O EET o+ BET > o 0Es
o 7 cO X - |RE1% % 3
S SRR _ i o ,
~ >~ N BER( v T, ALK v 7. R |ne BR 5.1 4.k
S /;1537;;;’\5;%%%;2? g (m¥/min) [B&R 1.67(100m*/h) (# FE0~150Pa$) -
B 72 ﬁgggx; v F . 4z£2;}-u? BETEZAM v F %E1E  (dB(A)) 45 42
E\g =z F.ABAERI[IVZA v F. =
d 249%@@5\Xj(w?é%t’i}w#i%h]%wf IAV— W5 A 7 —&AI 285
wgw 2 S ;ﬁfgixf/f~ %E%%@Z{w?;‘ SEE O e > o oEE
297.8 . = - A B AL T BERHAL > 7 & [B&m/nin) 891, 54 7—:2.25(135n/h) (BE0~150Pa)
© BEXA v F. BEEHAA v F. BEZ O BB 7> +BR07 v+ 75270 25— 0Ek| o |2 XNH B/ 917 —
AN R L SE SRt S A= < lme@ (BA) | 28 (BEPaE)
v Fo KT v F. ! - =
. AER Eg\z;?? ?ﬁgéi%ﬁ{" ; jr SRIE e KA 9 A7 — }r]‘]f‘f?*ﬂij("zﬁrai __
AABFROTE Bmato s, BEARIRA ). i r— X 5z X % HE 1| 30 [&e 4] 60 [ 7] 100
i i . : : - : = zx 2| 40 [mE 5| 80 [#E 8 110
430 440 BEES #:30 / 5:13 / T3:30 f |(n°/min) @& [2.0020m/m)]  — 2.00200/h) || BEGVN RS
BEE g B8:30 /T IEE:28 TIRE:28 / 91 7—:30 FE{E(dBA)) 50 g THBE e 80
RHEEBR B8):40 /TIER:28 TIRM:28 / 947 —140 yA~— - [ 05 « < —Bx6wm BEE18 (dB(A)) |21~25(#F0PaBs)
| SAMYUSEE | #:30 / §5:16 *EHECEHREE DT 5T,
B ksxrE% %:30 / 3:16 (HETEEE: WETOY LNRLTH Im 20> MSRUAT | nOALE THRIE)
g = : 5. #LBMARAE, L8 - RE - 4> BEOBT— K CHREEOBRTRREUD
o 5 [nEA—F=zrE%E 60 TEBEE, LBEESEBARELCAE— FOEEETLET.
g XN ® e %:06/5:19
© pa—— : :
BB 88:.9 / 914 v—:9 (BEOPaEF) = A £ N NN
LEERE RS 4~T7 X 'PE P % %B VAR ** fk = *:I:
~ = SR [E - SN . X5 o " <
;%;;%E% %GE;RE\SQ BERER 42/ 1K¥E:39 EQ E 7‘3— fﬁ f#iﬂ&)ﬁé’#ﬂ
SArERE 046 /min £ FL| AEBFEEIGH
Eﬁé%g%ﬁgg&%ﬁﬁm ﬁi@g 4'[§+L098 F(SMFIRIST #BKBI15C) ]
7 = HEE ZHEE 0.098m*(Sh5UR - F . -
RLEE ARG AR FEHRL AT, MENRD R #8 A 5K HBD-4124ACSKJI2MP
BAEBRIES NC8004 X — F — AUt RBHM-C4102K2P
FIHENo.

¥4 10HO GRS




OP— QR

100m3/h 2% & W

4" 10H0 ERS

250 . . | |
- ?0m3/ h BiEks 110m¥h 7=
B N _l___ . B
X\
B 80m3/h 7% E R
2[:“:] o iXﬂi # ﬁ\\ VA
| [oomm \ \\< \7\\ AN
‘e 150
g || 50m?¥h 5T Ry N
]i'l -
& | "\
¢ |
100
40m_3/h A TE RF
b
30m3/h % &
[:| 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 200 40 =1 il 100 120 140 160
EEm2/h)
= $8 E B A ZHE S H
B B A TN KHFESHAHE
%4 11| BEEER
B O A F| HBD-4124ACSKJ2MP
A — #H1 —BI3X| RBHM-C4102K2P
BN




	名称未設定

